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Select the statements that are true about the distribution.
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Students in a class range in height from 45 inches to 61 inches tall. A student joins that class that is 42
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shown. According to the displayed linear model,
determine the approximate predicted blood pressure ofan |
individual that is 40 years old.
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3. Blood pressure (mg/dl) was compared to age (years), as

Part B: Probability
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A study on own home ownership with respect to education level yielded the following results.
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5. Ofthe video cards produced by Nvidia, 3% are defective, while 8% of video cards produced by AMD
are defective. A gaming studio purchases 100 video cards per year. They order 60% of their video cards
from Nvidia and 40% from AMD. Suppose a video card selected at random is found to be defective.
Determine the probability that it was produced by Nvidia.
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Part C: Surveys, Experiments, Observational Studies, and Inference |S-1C.1, 5-1C.3|

6. A pine beetle inspector at a national park samples 100 random trees to inspect for pine beetle
infestation.

A) Identify the population of interest. trg2s w1t national povie
B) Identify the sample. 100 rangenn frees

C) Identify the parameter. e bectly, 1n {optation

Part {7: Comparing Distributions & The Normal Distribution [S-1D.4]
7.  Two PE classes are comparing class mile times. They construct the two line plots below.
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Compare the distributions, justifying your reasoning
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8.  ACT results are normally distributed with an average score of 21 and a standard deviation of 4.5. SAT
scores are also normally distributed with an average score of 1050 and standard deviation of 200.
Suppose Julia scores 27 on the ACT and 1200 on the SAT. Determine which test she performed better
relative to her peers. Justify your reasoning. _
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